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00:00 s 2 i (=i i =14 9.03 66.57 5.27 0.60 162 | 67114.77
01:00 =t = = f = = h = 8.94 63.05 6.31 0.51 1.62 | 66944.87
02:00 =% B2 R B2 R B2 8.87 65.55 8.39 0.24 1.62 | 67171.20
03:00 2 = {4 = =4 = 8.78 58.44 11.20 0.22 1.62 | 70033.43
04:00 =% G2 R B = B 8.91 61.15 | 12.19 0.16 1.62 | 68691.66
05:00 1= = {4 = =4 = 8.80 57.53 9.35 0.10 1.62 | 67696.73
06:00 =% B2 R B R B 8.84 55.06 19.44 0.22 1.62 |68179.91
07:00 2 = {4 = =4 = 9.13 58.17 20.80 0.14 1.63 | 66965.25
08:00 =k 1= =k =i = S 9.31 55.01 22.05 1.73 1.63 | 68605.67
09:00 2 = {4 = =4 = 10.47 54.61 28.25 2.95 1.63 | 69940.53
10:00 =% B2 R B2 = =% | 10.80 | 61.84 | 15.07 3.84 1.63 | 65632.25
11:00 1= = {4 = =4 = 9.93 57.24 18.93 7.17 1.64 | 70900.05
12:00 =% B2 R B R B 9.97 53.22 18.01 4.60 1.64 |69728.56
13:00 1= 1S =4 1= = 1= 9.98 56.88 26.94 474 1.63 | 68478.27
14:00 etk fe i et fe s et fe s 9.64 54.54 34.55 4.74 1.63 | 70014.20
15:00 1= 1S =4 1= = 1= 9.11 64.04 9.12 3.70 1.63 | 69454.22
16:00 et fe i et fe feifk fef 9.19 54.09 24.78 3.24 1.63 | 71508.67
17:00 1= 1S =4 1= = 1= 8.81 44.84 10.95 2.66 1.62 | 73726.80
18:00 et fe i et i et fe s 9.34 50.50 6.05 2.33 162 |71451.21
19:00 1= 1S =4 1= = 1= 9.11 49.30 19.96 217 1.62 | 70940.82
20:00 etk fets et fE s et fe s 8.59 47.31 14.60 1.82 1.63 | 74596.97
21:00 1= 1S =4 1= = 1= 9.30 63.16 8.56 2.47 1.62 |69282.32
22:00 = (e = {EH =4 {2 9.49 49.77 22.09 2.91 162 |71312.73
23:00 1= 1S =4 1= = 1= 9.12 41.87 11.91 1.20 1.63 | 72422.77




